Tcoubrr-;ouAL PROBABILETY ¢ INDEPENDENCE

So fov  cnsidend  omconditional  probalildies:
Teo PUA) mpted Wb mspt b o smpk spe € wih P(S)=1.

Con  samchimes  wpdde S based  onwew information,
By Heall: 12 possngen m(;,,} in qroups oF 4,5, ad 3 in 3 wehicks
AL maens “aclindidy ] ia. 8 F deneds i o 4

S’r 5‘” roS‘:’Ut ern’bu(; ) ISI = 2‘4,910

We hd

3 ? "‘)nr"’\""“'\s "“/ You with ":Ih.uA‘

s

?(YM\ r'.oL wi‘“" e;r:u.JB = m - O. ZWO‘
2%,%0
N ﬂfcu-h'ous

A“‘fﬁtz w; Lhou 70‘1 <‘\'ﬂu0L 3 n Tour) o“: 5 [ih ’H\‘ Van

Gvas  new Mc't ﬂrqu— Snth

New

S = { ru‘k"ians with *‘Iio.g‘ . V«.}

Now
rsf";"’“‘ts V:'H‘ )ltn w-"“\ ":ﬂc-df

?(Yo“ cide will Joicd i bied & v.s ) 4 { and fricd Ve
\ S.wzw\

W va

new

B

- & i ‘,‘Av.’-hows \,IIH« I’rtwe( n vaus

- ! - N-10-9-9-3-6-5 - il -6-3-2-3-6 = 0,550
U4y 4321 -3-2-1




Coms Lo 2o

\f If £
f’:_jf:l/

V’V\)

"o' V"‘ /' §'4 in ‘/, ” V“"“"““Ky /6“0“}‘/ Acwk’

¢"‘rru«A ejﬂ‘Jy in van

and

(
4 {f"”““‘ Wty ‘“““”""‘f 10: 93365

and ‘f: ied M Ven

4e s 3‘ /A
s

&os*
PR RS

7 £ |f 7
You w"‘L ;ru\o{ ond J:ruJ- n vén
5o ./

%V\J
lo! beys P A in all ! r!tmmmy iy 2 8¢-~’(5.

B0

4,200 _
P(You UA*L *ﬁuA 7:\“,« ‘Fﬂbﬂl M Vé - m - .36%‘9

Da: TF A ad & e aveds in S ad P(R)Z0, Hen
__"h 'Hw_ A onal oha . o-G A -‘..vlcu ® >:s

ADE P(é«&;)

¥ EVCM* % ‘amM rew SmP\L 8{&«.3

P

T. i b it
A 3 — /,{.,L, "B by

¥ more /, k/] A Ilc//)a.\

4i3i3l® 3.5z -9 ¥¥-5=1Zoo



%:5 \I‘t »\cvv

P New w: flem siwd i Yo
P(Yw witle Leied \;M\ . V“‘B" ( A deed N4 X )
V(«Fruuk i \L«)

w‘\ug Sﬂws \)J’cw

Y 200
?(You 4’wo W Y.\ = - e
" 3 ko 00

and

o[ Foud \L.B B Pkl of ik e VY
b § Al gt §

e - .‘//67'
29, %%

%o

17( You wil $eiedd \ foed i Ve«) = M .56 36

“YI6%
(Com’,uu. 4’4 u\uuua{ikoul
probelibly o ridns v/
e-%'- E,se! \Jc.\«., ur on -Cl‘ld' /A OLY( t'[’ Swmeserg ‘[’r:uu‘. h}

A‘ Ovenilup o oL,‘

b= O\N\'uf on oL,Z.

ﬂvﬁw«« PlA"S = f"

oly)-
tlang) = &
1‘% Ovus\u.r o ol-, A a,\vm yoo .M‘L(" on pl.rl
ylo Yy

?(EIA>= ‘./:' D P(iﬁ)

10



’fLunw» (15“7&5, QuL)'. Ll,+ A“JA‘&‘... Lﬁ - P 4o of ‘\‘Ls
$c.~u'o'¢, £pace andk I+ ® L oy &* wih  P(8) >0 .

Thow
Pl & |4 (A A rebodibion
?(Ay |6>= o0 , 3 )A = (Al)’ ‘P(A»;/\ﬁ)
;{_.?(&MD?( D rlkle): =7
Tllushadton

i?(BnAD

Nc L»w Ly olc“:v\ o“: cond Hianal ?u\o-‘oiuy

’P(A';lﬁ) = P(A;/\@

P(®)
wd  p(AAD) = plulA)p(k)
Als.

P .
o). L 2(snh) = Z plel)e(k)

A'.P?h“"ﬁw;(ighp\w \/&VSMU\\. A %ay“’ ivlq, .
’F;( any '-‘"M*S A’ amd B in S ,

? (3\A) (A o rebunldron o
"M B) T IA)P(A) + 2l BIADR(A) DE ‘1(%%)

kuf On Aﬂaw( o/um'}, mx‘f orc.uyfé

* ih 5“'50\ (4% b’f %‘1‘«‘: io.l— ke(aﬂﬁe- A'J A‘ Makdr 'S rav“"’" o o{' S

Tllogteedon. ;



Nk bt
plAng) = el sl AP (A)

?le) = tlenn) «elsnnd)
= plo| A elA) + 2(8) A) 7 A)

% gv“mv vwe ‘nsvv ”noﬁyl( NlmrSo (,.c(c— J'Vausmissnw s.uﬂ ‘l‘\«.‘"

\
i Pl | wit) =
=~ 3
=~ S +
‘PS \E ?(l’, re.c.[ -’ Scn+> = l/7
§ 58O
\\5\» Ww“' 4o \ﬁmw
‘ﬁa :* . ¢ L_ CVw -|-L-7" wWe vVeceive “’
§~§? (}) {Pé ')St—u"'l(')ff—t) wL+s '“w‘;'o‘o“7 'Hn“’ ("‘Ws(
8 2 ‘;: Sw‘to
=~ ‘\&:L\ § () ?(("‘ set \("> r‘eo)
330 B bk
~— & ror wowle '
% — k‘fi ’ mo‘. (=) st i fn,:or#on 3:4
2 .
5\ é‘g Ho 3 4 % /S/MLIS ore ‘> = 'P((')s“d/)= 3
3 X § o ¢ t)mlpo's ave (=D o= st) = Yo
SRy
g s 1. ,
& 2% |6 By Bees Lde =% ’4/.;,,
/w\

?(‘-’ ,,.&Ic.‘u‘ - . m ‘. sd’) 1’(,‘ s ‘q
3 /{' > ? ) uc' . fw“%f(g;s:‘f\ P(‘ ),u.' - ‘u;l-)? (> w“)

\_/—V—-.J | N

A b |- 3 }/'3’ '/‘Z ‘l/q



- _ (w)E)
(%) + (D)

(;03 ?((“, sent I‘“’, no> = 9’“‘";“") et oo exencise = %

e/}( D;scaw. “mmk w?‘“'\ ?mf;v‘ew“' -u.s-y

c
A : 705;4'\% disesse assey A-c: vu.z,.‘th diseasc <ssey

D ‘ ?f&fﬂa“ o'[' Aisc <Se ) D @ ne A;sc.as‘

Boppssa ~ “somsidivity o asey bty & ey
PLAlD) = .9 PLA® | D)= .9

.'\-004 Suve Cenn  \ve— \) (5 o'[' A X1 “s ?, Wm‘\' -\—p -t i ni

> P(o|A) Aside .
A ny :””val- ‘n-:.'"zw.“
G() P( D° ' AL) A 0% Pulse ?os:-l-:vo"

Acf\ Dc: VT{W« nea o ve”
A‘ no :UFJ“' wurvhvf/q

Pﬁof \ﬁhw\u‘g-'- 5°/o e": ‘»F Les i:susc =7 T’(D) s .08

(i\ ﬁ % 0) vl"
y Bge 1 o AaD)
r_/'\ | - P(A"D‘) = |-.98= .02
oy /

P(D“b = (A o) #(o) — 1-P(D) = .95

P(A\DIP(D) + 2 AlD) P( D)
—— N — —
= p(AnD) ro(Aane) = P(A)

= ("72) ( OS)
(a2) (.05) + (02)(.95)

= Lttt




(u\ 'V(D"'A‘> = %M:le \e+ a6 exercise = .9957F

@ ne fwo L\IM"‘ A’ cud B in S ave (_q"ai M 3‘(:
PLANE) = ?(A)PLe)

. f\,o‘b- Md’ '[L.. 'A\/[om’u} &L"mu‘fs Ccye cZw‘vq’u‘f‘:

) Plang) = oM #v)

Gf) 'P(A) s ?(Alg) & ProLaLiHy o A unalered ‘r)y
oevrence o %

@) ?(8) = P(BlA)

Plr) = p(Al8) = p(A0g) ¢-> PUAYA®): S
PC)

¥ j:‘F A/& 'mo(o‘omia»‘b Ajﬁ‘, A",‘B J and A", &c ove— ?ua‘bpwlm“'

62-5 éf( ﬂ-r @ Coin ‘I‘H?LL

"h: Ata&( oh ‘Aﬂ* "H:P
Hz: l\uol on  Bewond #'f

Plbwo heeds)= P(ha ) = plh)A(KY) = (2)(3) = 4

?—‘L_“'é% A (.o“w“ﬂv\ o‘F (,\IM'\'( A’. EETSY A’.,L e mu+~l-“§g { ol euo(--w"'
e $or oy 2ob o lechrom A» Sy esey A ., We have

i ér
k ~
(P( N Aa‘. = /) ?(ALD

%-; ac{.) Fl'P @ toin n ‘Hhvs )
“’z : Lw‘i on ;‘h 'u‘rj CH‘...) n
¥R e whildly depudedt



n

G LM k)= 7 0 %) - T"\-P(Q -
Gy PLA dek o ’f-% - oL {m \mtss")
= 1= P M heds)

n
2

= ;-@)



